“EE=H

97 ££58 2 RIS
A MO R 2 (109%)

T B A A RER I AR IR
X 10 20 30
f(X) 02 0.2 0.6
A BERERTI A SRR R R R 2 Sk ok AP 3 il s
fap 7 FLAISR fiE R B R T 2 (24%)

S BRI 02 0 SRR 6 A -
(1) Wesh 3 KIGHERERT 2 (2) FAMI 3K (237K Mk ?
(3) HeffTe 22 Bk 2 (30%)

VU~ —ZER R 3 B > HIK
(1) 482 733N NG 3 AHUBER 2
(2) A£57#NED 10 BEEIEEEK ?  (16%)

T~ FEHSERI X A ERS BT o Y REZrE e R HIBRS R
Foam e

Y (%)

X (o) 10 20 30
5 0.1 0.2 0.1
10 0.1 0.1 0.1
15 0.1 0.1 0.1

K (1) EXDE(Y)~V(X) V(YY)
(2) COV (XY) (20% )



